
COMPUTING
WITH SETS



Unions and intersections
-

Au B = union of A and B An B -

- intersection IN O : mitt) of A ,
B

= { x : x e A or x E B } = {x : x e A and x E B }

Given n rets Ai
,
Az

, . . . .
An

,
we have :

A
,
u As u -

-
-
- u An = An = { x : x lies in at least one of

the nets A.
, . . . ,

An }

A
, n Aa n -

-
-
- n An = An = { x : x lies in all of

the rets Ai
,

. . .

,
An }



Unions and intersections are associative :

(¥ An) u B = Anu B (¥ An) n B = Ann B

(n An) v B =

a

Anu B ( IA, An) n B =

a

Ann B

Pdf : Exercise !



We can also take unions/intersections of larger collections of refs :

Definition : A familyofnets is a collection of nets Are indeed

over a
ret k e I

¥ An = { x : x lies in at least one of the nets An ( for k e I) }

f) An = { x : x lies in all of the nets An (for ke I ) }
keI



Example : Write T as a union of
' -

Tline regiments
;

T = { (x ,y)
: OE y El

- x
,
axe I }

=

×¥
,

{ Ky ) : cosy El
- × }

=

¥
",

1×3×10,1 - x]



The associative laws still hold :

(¥ Ah) u B = AN B ( An) n B = ¥ Ann B

( An) U B = Anu B (¥ An) n B =p? Ann B



Detlorganhlawswhat
is the complement of a union(intersection of nets ?

(Av B )
'

= A
'

n Bc fan B)
'

= A
'

u Bc

For families of nets :

thank ai I An)
'

= ¥
.

An
'



QUESTIONS ?

COMMENTS ?


